THREBBLAIRESE

[ £/k 26 £ 108 31 A {1 )

1TELX 1T L X 4 5 # 7t o ATEX ITBX 4 5 # 7t it ATEX 1ITBX 4 5 # il A
1/RER 75 89 164 54 201 |'& 7 R b 389 413 802 310 316 | A BEEN 636 676 1,312 360
(0 ( 1) ( 1) (—TH) HnIC 20 3 (ST H) 21 C 2/ 4
AL 398 392 790 324 202 &7 R HED 656 698 1,354 583 NT7HABEL 360 349 709 218
(. 21 C DDlIC 9 (ZTH) HDIC 0 ( 1) (ETH) 0/ 0ol 0
3|l 79 81 160 54 203 | %7 FALER 555 560 1,115 444 318 |FHAEFEIN 0 0 0 0
(O] C o/C o0 (Z=TH) I HIC D O\TH) 0/ 0ol 0
4|07 376 444 820 354 204 |57 FALER 488 505 993 412 321 | HE— 239 236 475 136
(O] C o/C o0 (uTH) 0/ 2/ 2 (— T H1~4%H) 1) | ( N C 2
5— /B4 63 56 119 31 211 |J& h ik 415 420 835 334 322 \FKHE— 237 259 496 146
(O] C o/C o0 (—TH) 0) | ( 1) | ( 1) (T HAH 21 C 2/ 4
6 — /B4 86 85 171 50 212 |J& hktk 225 254 479 187 323 | HE— 678 683 1,361 401
( 0) | ( 1) | ( 1) (ZTH) 0) | ( 0) | ( 0) (=T B2 2) | ( 3)  ( 5)
7= /M4 162 179 341 129 213 | /& hk 284 260 544 198 324 \FHEE 415 418 833 302
(O] C o/C o0 (Z=TH) HDIC 0 ( 1) (0T H1~17FH) 0) | ( 1) | ( 1)
8|&EFH 155 157 312 105 214 |J& h ik 383 389 772 314 325 | RHEE 665 700 1,365 415
(o i 1 (T H) O/ DIC 1 (BT BHA) 0/ 0/ C 0
9 7 H 53 45 98 29 221 |HITDOY—TH 576 607 1,183 429 326 | FKHE— 340 391 731 215
(0 ( 1) ( 1) 0| 2/ 2 OST H1~17FH) 0/ 2/ 2
10 |5t 61 56 117 36 222 | HITOY"TH 684 681 1,365 507 327 | HFE = 883 914 1,797 521
(o]l C 0o/C 0 HIC 2 3 (T HA) 0/ C 0ol 0
11| K&E 43 44 87 24 223|HITDOY=TH 834 821 1,655 616 328 | HFE = 227 237 464 160
( 0) | ( 0)  ( 0) 1) | ( 0) | ( 1) O\T BH23k) 1) | ( 0  ( 1)
12|45 5% 96 83 179 51 231 |HEE—TH 614 639 1,253 456 329 |FKHE = 6 4 10 6
(0 ( 1) ( 1) 0 | ( 1) | ( 1) (uT BH498%) 0/ 0ol 0
13| K& 43 49 92 23 232 HEHTH 808 859 1,667 602 331 | HE — 8 33 41 39
( 0) | ( 0  ( 0) 0)  ( 2) | ( 2) (— 7T H5~8%Hh) 0) | ( 0  ( 0)
14| 614 81 81 162 45 233 HEHR=TH 359 3717 736 266 334 | HE = 486 480 966 352
(O oo/ C 0 o/ I 1D (4T H 18~28%Hh) 2| C i C 9
15|HA 92 75 167 50 241 |[H:ThkE— T B 451 468 919 282 336 |FHE — 464 473 937 273
(ol ol o 0/ 22/ 2 (ST H18~35%ih) 2 2 4
16 |V Rk FH 106 118 224 63 242 \KThFE T H 538 550 1,088 319 401 | EBR—TH 834 884 1,718 526
(0 ( 1) ( 1) 4H | 3 D 4H | 3 C D
20 |iE KA 282 275 557 192 301 | MG AH— 445 482 927 368 402 | ERAFKR T H 0 0 0 0
(O] C o/C o0 (—TH) 0/ 0/C o0 0|C 0/ 0
101 | K15 342 361 703 270 302 WG HEH— 417 466 883 358 411 | KyEKk—TH 735 744 1,479 425
(—TH) ( 1) ( N C 2 (ZTH) HnIC 3N 4 6) (. 3| C 9
102 | K15 2717 282 559 211 303 | mbe =T H 550 590 1,140 447 412 | KyEKZTH 379 393 772 234
(ZTH) (0 ( 1)1 ( 1) 0 | ( 1) | ( 1) NIC 0 (¢ 1)
111 O&vE—TH 843 849 1,692 655 304 | G HE T =— A 165 191 356 162
( 2) ( 3)  ( 5) 0)  ( 2) | ( 2)
12|00 TH 481 464 945 391 311 BHAEE— 574 611 1,185 410
(O] o/C o0 (—TH) 0 | ( 1) | ( 1)
121 |7 V—r v 254 242 496 162 312 HAEE 463 503 966 316
( 0) | ( 0)  ( 0) (ZTH) 0) | ( 3) | ( 3)
140|EHDAK 226 218 444 165 13HABEE= 644 665 1,309 410
(—TH) ( 1) ( N C 2 (Z=TH) HnIC 20 3
141 |EHDAK 47 58 105 42 314|FHABEHE = 202 208 410 144
(—TH) ( 0) | ( 0  ( 0) (T H) 4) | ( 0) | ( 4)
142 | EHDAK 327 349 676 259 315/HABER 1,069 1,040 2,109 683
(ZTH) ( 2) | ( 6) | ( 8) (WWTH,HETH) 0) | ( 1) | ( 1)
( YWNIISEAETHYAE, (H24. 7L59) [ A ] B 25428 A % 26263 A i 51691 A 18,055 {HE
KI7V—2 v id, OdDE—T BITBIXICE £N503, BRNEFL TOET, ( 490) ( 87N) ( 136.1)
OVHAMP X, BT FATERICE ENAHH, ERNCHEFL TOET, [ & AXRE ] 5 25370 A T 26225 A 5t 51595 A 17,994
[# &) B 5 A & 38 A 96 A 61 e
( -1AN) ( 1A) ( 0AN)




